m 2olar-l 45 H

Fitting for top-running wooden doors up to 45 kg (99 Ibs.), with surface mounted
running track. Wall or ceiling mounting.

Product highlights \\/
ﬁTﬁ Flexibility Wall and ceiling mounting to the same system
. . \:
with accessories I —
M Productivity Easy processing for minimal production and
installation times
Technical specifications
[ Max. 45 kg (99 Ibs.)
w Max. 2200 mm (7'2 5/8")
&2 Max. 1000 mm (3'3 3/8") o
s[e 30-45 mm (1 3/16" to 1 25/32") S
P
Installation examples
30 (14-31) 29
05 [T 1;-
05
; 12
PN 15u
AL 32
S ES &5 f'\v'.- gs 5 e
de | BT || | O sl O
Relhridd =l
S e &5 ‘Crﬂ.ID oz
T THT e
SIER SIEN
28 28
15 +3 15"
- 3 3
Tg 80
05x35 35
+L" 32
8
| 1.
10/, 40 8 10, 40 _|1 H 10/ 30 100 100 30 |2
x Nl T Iy
© |V 0 4%20 03 e 03
< we ~ER
I ﬁ f f S ) £
FIE =& = b
37 |12 62 12 12 62 ol o
15u 15u oLu 150 15u oL 150 118
132 32 16 32 32 16 32 32
10
13
132
04
w3 O ! 7
Mz % -
<Y 32
sz ©| e =
e . e L i - Sl
©lia o : 1
30 |(22-34) E
13 (Z"_1H") 65
6 \87'32 04x%20 2%.,
133

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



m 2olar-l 45 H

Set for ceiling or wall mounting,
for 1 wooden door up to 45 kg (99 Ibs.)

Set for ceiling or wall mounting,
for 1 wooden door up to 45 kg (99 Ibs.)

No. No.
Hawa Porta 45 H, for 1 door 057.3045.071 Hawa Porta 45 H, with running track, 057.3144.071
2000 mm (6' 6 3/4"), aluminum, for 1 door ’ ’
S -
g No. §r'
2_ s No.
T Yo [sp]
Set consisting of: o mm ~
Set consisting of: (inch) 3
Runner, plain bearings,
housing plastic gray rollers 2 | 057.3044.071 Runner, plain bearings,
plastic blue housing plastic gray rollers 2 | 057.3044.071
- plastic blue
A
s@a ? Stopper, with retention @
@’N"" spring, plastic, grey 1 | 057.3038.071 '\*@@ \\"I’ Sto_pper, with retention 1| 057.3038.071
.‘c ‘\I' spring, plastic, grey
Suspension bolt,
& M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104 Suspension bolt,
steel, zinc-plated V M8x32 mm (5/16"x1 1/4"), 2 | 057.0123.104
Hexagon nut M8 steel, zinc-plated
stool inc : 4 | 767.0808.100
, -plated Hexagon nut M8,
steel, zinc-plated 4 | 767.0808.100
> Support bracket, height
" and lateral adjustable, 2 | 057.3129.101 s> Support bracket, height
\/ steel, zinc-plated 7 and lateral adjustable, 2 | 057.3129.101
\/ steel, zinc-plated
Pan head screw,
&E}g@ 5x35 mm (3/16"x1 3/8"), 8 | 766.6051.135 Pan head screw,
) steel, zinc-plated %@& 5x35 mm (3/16"x1 3/8"), 8 | 766.6051.135
steel, zinc-plated
a T-bottom-guide, adjustable .
v]/ lastic anthrac"te " |1 | 057.3010.001 4 T-bottom-guide,
$S plastic, ! {7 adjustable, plastic, 1 | 057.3010.001
S anthracite
Wall buffer, 19x10 mm
@ (8/4"x13/32"), rubber, black 1 | 024.0002.046 @ Wall buffer, 19x10 mm 1| 024.0002.046
(8/4"x13/32"), rubber, black ’ ’
Countersunk head screw,
&E;% 4x20 mm (5/32"x25/32"), 4 | 766.5042.120 Countersunk head screw,
steel, zinc-plated %@& 4x20 mm (5/32"x25/32"), 4 | 766.5042.120
steel, zinc-plated
Z Running track,
aluminum, 2,000 1 | 057.3037.200
) (6'63/4")
pre-drilled
134 Subject to technical modifications. Metric specifications are exact. Inches are approximate.




m 2olar-ll 45 H

Running tracks Wall mounting
mm 30 (14-31)
(inch) No. By | e
(5,16’17312”) 057.3037.170 |  alds
(5’62?49‘) 057.3037.200 e (i R
Z Running track, - Fithg Qs
aluminum, 2999 | 057.3037.250 ot
pre-drilled ¢ ) 238
13 +3
(196,;07?32”) 057.3037.600 B
cutto 1 4573037.990 L
size |
10| 40 8
Disposable cover to 2‘1000” 057.3098.001 SETET]
running track Hawa (©'63/4")
Porta 45/60/100, cut to 10
plastic, black size 057.3098.990 5
04 %___ 45
I
Bracket set for wall mounting , ) ®
e &y 5 s
Angle bracket for wall mounting, S | B S 5: e
steel, zinc-plated, 10-piece set 057.3005.172 ERCETRE — ; oy
D ¥oo%
N
~
Ite}
3 No.
©
5
Set consisting of: =)
Wall mounting angle
bracket, steel, zinc-plated 10| 057.0169.101
Countersunk head screw,
&Eﬁ@ M5x12 mm (3/16"x15/32"), 10| 762.5008.100
steel, zinc-plated
Hexagon nut, M5, steel, 10| 768.9025.100
zinc-plated
Bottom guide set for wall mounting
No.
T-floor-guide set,
for wall mounting 057.3015.071
Accessories
No.
Track cleaner,
/ olastio. biue 057.3099.071
Accessories Planning/execution
— Lock solutions from page 511 Further information about the product can be
— General accessories from page 518 found on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 135



